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QUESTION 1

A customer implemented an EMC Centera and performed acceptance testing by writing 4 TB of data to the EMC
Centera. After acceptance testing is complete the customer successfully issued delete calls to all the data. The next day
the customer observes that the free space on the EMC Centera has NOT significantly changed after the deletion.

How is this possible?

A. A purge command must be issued to reclaim the space

B. Garbage collection has not yet swept the data

C. Reflections have consumed the space

D. Retention has been set

Correct Answer: B

QUESTION 2

Which operating system does EMC Centera Console support?
A. Alx

B. HP-Ux

C. Linux

D. Windows

Correct Answer: D

QUESTION 3

What is the cause of the time lag on a successful replication test when using the EMC Centera Verify tool?
A. Asynchronous replication

B. Built-in replication delay in CentraStar

C. C-Clips being queued for replication

D. Replication is paused

Correct Answer: B

QUESTION 4

The storage-strategy is set to Performance Partial and CPP. All objects written to the EMC Centera are greater than 10
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MB in size. The threshold is at the default setting. You notice that single instancing does
not work for these objects. What might be the reason?

A. "M" naming scheme is used by the application

B. Application uses embedded BLOBs

C. Collision avoidance flag is set on the application server

D. Size of the parity slices is smaller than the threshold

Correct Answer: C

QUESTION 5

You want to implement Enhanced Availability incorporating two physical sites. The active CUA and primary EMC
Centera are in site A; the standby CUA and secondary EMC Centera are in site B.

In a properly configured environment, which ports will be open on the network firewall between the two sites?
A. 3218, 3682, 4543, 80, 22

B. 3218, 7227, 23

C. 3218, 7227, 3682, 80, 22

D. 3218, 7227, 3862, 80

Correct Answer: C
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